EXERCISES

Convert each equation te slope-intercept form and graph. Clearly mark at least three points on each line.

L. -5x+2y=-8 2.y-8=-3(x+1) J.y=1+3(x+4)
4.x+4y=12 5.4x-3y=6 6.y=2(x+5 -8
T.4x=8 8.y=3x+8)~9 9.y+6=3(x+2)
10,y — 11 =-3(x+2) 11, x+y=-6 12, -5y=20

13. Write a linear equation that is not in slope-intercept form. Convert it to slope-intercept
form and graph it. Show that your linear equations are equivalent by substituting one point
from your graph into both equations to show that they make each equation true.

14. Patti signed up for a cell phone plan that charges an initial monthly fee and a set rate per
minute she talks on the phone each month. The equation she was given to calculate her total
bill, y, was y = 0.1(x + 20) + 7 where x represents the number of minutes she talks on the
phone in one month.

a. Convert the equation into slope-intercept form.

b. What is Patti’s initial fee each month?

¢. What is her rate per minute?

d. Last month, Patti talked on the phone for 427 minutes. How much was her total bill
for last month? Show all work necessary to justify your answer.

15. Is the point (-1, 4) on the 16. Is the point (6, 0) on the
line 3x + 2y = 5? line y=-11+2(x~ 1)?

11, Is the point (0, 0) on the 18. Is the point (2, 10) on the
line y=~3(x +4) +2? line 5x — y = 07

18. s the point (-6, ~2) on the 20. Is the point (-1, 3) on the
line —x + 2y = 107 line y=2 - 2x?

21. Vicky decided to buy tickets to the local Razorbacks baseball games. She learned she
must first become a Razorback Club member for $14 and then pay $2.50 per ticket
to attend the games. Vicky purchased 12 games plus the membership fee. The
ticket sales person charged her $34. Was she charged correctly? If not, how much
should she have been charged? Use words and/or numbers to show how you
determined your answer.

In each set of three linear equations, two are equivalent. Identify the one linear equation that is not
equivalent to the others in the set. Show all work necessary to justify your answer.

29, 2x+l4y=8 23.|y=3x-4 24, (y=x-1
y=1ix-2 y=3x-2)+2 5%+ 5y =5
y:——%x+2 -3x+y=4 y=-(x+6)+5
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REVIEW

Write an equation in slope-intercept form that is represented by the given information.

- 26. has a slope of =2 and 217. o
g 6 y-intercept of 1 o
1 4 ;
2 2 ;.%432_-?1_}32345
3 0 2
:
gt
28. goes through the points 29. S
(-3, 3)and (2, 8) al
_ 1 3 9
~'5_-4-_a?2.-1_32'345 6 24
A 3 34
At
s
=L

31. g 33. has a slope of 1 and goes
3 4 -1 through the point (6, 1)
: 4 3 ' '
S I N IV E R R 4 5
4 7

-t
2
3

Lmear equatlons are an essent:al part of Algebra L ’Ihere are many career .
‘choices where knowledge of algebra is crucial. Research at least two dlﬁerent R
careers that requlre the use of algebra Write al-2 page report about these careers. S

Indude the foliowmg in your report for each career:.

& Description of the career _ -

-« How the career includes the use of algebra _ -
"« How much scho_ohng is required for the career ..
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